WORLD CITIES

VIENNA

NAME: CLASS: DATE:

Click or tick the correct answers

1) What’s another name for Vienna?
a) Wien
b) Vien
c) Viennum

2) In which country is Vienna located?
a) Australia
b) Serbia
c) Austria

3) In which province is Vienna located?
a) Wien province
b) Vien province
c) Viennum province

4) Vienna lies about above sea level
a) 305m
b) 203 m
c) 100 m

5) What’s the mean annual temperature of Vienna?
a) 30 degrees Celsius
b) 20 degrees Celsius
c) 10 degrees Celsius

6) What’s the annual average rainfall of Vienna?
a) 610 mm
b) 710 mm
c) 810 mm

7) In which year did Vienna sign the state treaty?
a) 1945
b) 1955
c) 1965

8) What fraction of the Austrian population lives in vennice?
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a) One-quarter
b) One-fifth
¢) One-sixth

9) A modern limited-access highway extends north from Vienna to
a) Germany
b) England
c) France

10) Where is Vienna’s international airport located?
a) Carpathian
b) Celtic
¢) Schwechat

11) What fraction of Austria’s total industrial plant does Vienna contributes?
a) One-third
b) One-quarter
c) One-fifth

12) Which of these organizations is not located in Vienna?
a) International atomic energy agency
b) International labour organization
c) United nations industrial development organization

13) Which of these is the heart of Vienna?
a) The innere stadt
b) The city center
c) The Vienna cathedral

14) In which year was the Vienna university opened?
a) 1355
b) 1365
c) 1375

15) When did the roman’s take over Vienna?
a) 20" century BC
b) 1% century BC
c) 7" century BC
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c) France
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